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Accelerated Angle Relationships: Class Work

BA and BC are opposite rays, which means _
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BD bisects <ABE. Justify your steps.

1. What does it mean to bisect an angle? Cut Yhe &1

. BF bisects <CBE and
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3.Ifm<1=4x and m < 2 = 5x, ind m < 2.
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4. Ifm<2—6y+2andm<1—8y 14, find m < ABE.
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6.If £1 = (x — 4)? and 43 = 9°, find the possible value(s) of x, 21, and £2. Note: This figure is
not drawn to scale. *
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7.1f £1 = x? + 2x and £2 = 4x + 140, find the possible value(s) of x, £3, and 24. Note: This
figure is not drawn to scale.
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